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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
ELEMENTARY MATHEMATICS
(MATHS-111)

Time : 2 Hours
Section—1I :20

Maximum Marks : 100
Section—1II:80

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
gus - 1
Time : 20 Minutes] [Maximum Marks : 20

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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‘Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question. (10x1=10)
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()  Stop of the straight line x+2y+4=0. (8 &N x+2y+4=0.%1 T Brm) I:.l
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(i) Centre of the circle x?+y? —2x+4y+1=0 (@0 x*+)*—2x+4y+1=0 F &= TM)

[]

@ @2
@ -2
3 L2
@R C1-12).

&) xli-l:lo sme 7 | I
@ 1
@2 o
B) o
@ -1.

(v) If (AR) fx)=2x-1, g(x)=x*—2x, then (A) (f-g)4)= [3:]
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]. then (8) (where I is the identity matrix) (&1 1 3T 3=qE ¥)
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If A is a square matrix of order 4 x n, then n =

AR A TF 3xn B H A AT B, W 7= coeenencerrerrssessssssnaeenens

Null matrix of order 2 x 3 is given as

3x2®E w1 YA I fafted I

2
J‘xz dx =
1

d2
F (cosx)= PP A .

If A is a matrix of order 4 x 3 and B is a matrix of order 3 x 4, then order of the
matrix A X B is
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
ELEMENTARY MATHEMATICS
(MATHS-111)

SECTION - 11
qug - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 80

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
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3. Answers the following questions : (5x2=10)
= wsit v & SW AT

() Find the derivative of (3@He™ HifT) ()%

(i) If (AR) x=sin¢ and () y =2, then find (A Fa F) %.
(i) Obtain (W Q) [ tanxdx.
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x2-9

=3 x-3 ;

| @iv) Find (ill'd ﬁ) lim
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4. Answer all the following questions : (2x5=10)

Preafofen a9 T ® IR A

" () Find the coordinates of the point which divides the line joining (1, 2) and (6, 7) internally

and externally in the ratio 1 : 3.
fagaii (1,2) au (6, 7) i faem Al @ 1 :3.mﬁmzmwﬁwﬁaw

Tt fagstt & fwe @ s

(i) Evaluate (J@ &%) _[ x log x dx.

5. Answer all the following questions : (2x6=12)

Frafafaa |+t w94 ® IW AR -

(1) Find the derivative of y = sin x with respect to x using First principle of differerntiation.
y = sin x %1 3aHa, AaHed B 99 fGgia F1 @M T J@ wU

: x+3 x<2
(ii) Test the continuity of the function f(x)= at x = 2.
P —x+3 x>2
X3y <) ;
x=2W Bl f()=1 , % Fiaw ' W Fw
x‘—x+3 x>2
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6. Explain any two out of the following three questions in 1-1% pages. (2x9=18)
frafafaa T 961 4 & B @ B 3w 1-1% ¥ § anEmEw

Sib ol )
() If(AR) A=| 1 1 0], then prove that (F faz = fF) —A’+2A% +3A-61=0.
2 -1 2

(i) Find the equation of the circle which passes through the points (0, ~2) and (2, 0) and its
centre lies on the straight line x+2y=4.

fiargall (0,~2) T (2,0) ¥ T AR IW A 1 THH T FY FEH X T @&
x+2y=4'q(ﬂ¥ﬁ'?ll

(iii) Find the maximum and minimum values of the function f(x)=2x> —24x~-20.

T f(x)=2x" —24x—20 1 AfuHa d Jaq 9 R

7. Explain/Describe any two out of the following three questions in 2-3 pages. (2x15=30)
frafafan @ o § ¥ Al & & IW 23 W 9 IHERy

() Find @@ &) -dl, when (&) y=x2cosw/1+x2.

&

(i) Find the area bounded by the curves y=2x and y?=4x.

FH y=2x T y*=4x B T WA A H FFA A U

2 -1 1
(i) @) A=|-1 2 -—1f, then find @ F@ H) AL
1 -1 2
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